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Karlo, das Krokodil



Wegzählen ist angesagt! Schulübung   NAME:___________
11 – 1 – 3 =

9 – 4 =

   7 – 2 =

  11 – 1 – 6 =

6 – 4 =


10 – 7 =
        11 – 1 – 5 =
   4 – 3 =

11 – 1 – 7 =

5 – 4 =

11 – 1 – 0 =
   9 – 8 =

7 – 4 =


11 – 1 – 4 =
   9 – 5 =

   6 – 2 =

11 – 1 – 2 =

8 – 4 =

  10 – 8 =

   5 – 3 =

10 – 6 =


11 – 1 – 1 =
   7 – 6 =

 11 – 1 – 7 =

11 – 1 – 8 =

10 – 7 =

   9 – 6 =

    6 – 2 =
3 – 1 =


10 – 2 =

11 – 1 – 3 =
     5 – 1 =

9 – 3 =


7 – 5 =

4 – 2 =

   10 – 3 =

1)Ordne die Zahlen der Größe nach!   6, 2, 11, 5, 8, 10, 0, 9

_______________________________________________________

2)Male folgende Zahlen an: 4, 2, 9, 11, 0, 5, 7, 10
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3)Zerlege:   
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